Subject: Re: Tutorial feb2012
Posted by Klaus Gotzen on Thu, 10 May 2012 13:39:23 GMT

View Forum Message <> Reply to Message

Hi,

last time | tried to validate | also had problems with applying PID algos different then default. It
seems that the TCAs are filled with reasonable values, but that the PidCombiner (which is
supposed to multiply the values of different algos) somehow doesn't work correctly.

Ralf, do you remember, that we were taking a look to that, but without really solving the
problem?

This actually means, that we/l need to take another look to the code. Unfortunately I'm sick at
home at the moment, so not today...

Best,
Klaus
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